1) p 20, Example, resisténcigresi stance)
Q=RI%
Modulus for worst casdaways adding):
AQ =1 /AR +[2RIYAI +|RI%|At

8Q_BR LA At

Q R I t
R=100+1Q
=100+ 0,01 A

t=100+1s

Q=100 x 1% x 100 = 10 000 J
AQ/Q < 1/100 + 2 x 0,01/1 + /100 = 4/100 = 4 %

2) http://en.wikipedia.org/wiki/Error_propagation
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Example1: y = f(6) = arctan(6)

AX = ‘ f_\{-l—‘ &B—i—‘ -AC + ---

dy 1
do 1+6°
1
1+6°

Ay = AG

Example2: R=V/I

(AR)? = (aR Avj2 +(6RAIJ
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(AR)? :(%Avj +(—I\/—2Alj

This can be simplifiedby dividing both terms by R*:
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3) p 22, Example, resisténcigresistance)

Q=RI%



) aQ 2 aQ 2 aQ 2
(AQ) _(ﬁARJ +(ij +(EN)

(8Q)* = (1%t AR) + (2RIt Al )? + (RI2 At)
This can be simplified (as before) by dividing by Q*:
2 2 2 2
() =(F) =) (%)
Q R | t
With the data given, Q = 10000 J:
2 2 2 2
& = (ij + zz(ﬂj + (ij =
Q 100 1 100
=10 +4x10™* +10™* =6x10™"
AQ =10000%+/6 x1072 =10* x 2,45x107 = 245 J

Suppose we adopt
AX =20,
L =AQ_25_
2

Working with AX or g gives the same conclusions, as they are related by afactor [in
this case 2, which comesrom @™(95%), i.e., NORMSINV ((1+0,95)/2), or other].

/
0’0



